


MATERIAL & HARDWARE

33 35 --- SPACER/SHIM FOR 3/4" DIA BOLT (3/8" THICK) --- A-2, A-3A, A-4B --- --- GALVANIZED

33 35 --- BOLT 3/4" X 2 1/2" A325 --- A-2, A-3A --- --- (1) HHN & LKW-EA GALVANIZED

132 139 --- BOLT 3/4" X 2" A325 --- A-2, A-3A --- --- (1) HHN & LKW-EA GALVANIZED

12 12 D-1 L 4" X 4" X 3/8" X 26'-0" A36 --- A-2, F-2 258.3 3100 GALVANIZED (FINAL CUT LENGTH TO BE DETERMINED IN FIELD)

6 6 AL-1 L 5" X 5" X 3/8" X 20'-0" A529-50 --- A-3, F-1 269.6 1618 GALVANIZED

36 36 D-2 L 4" X 4" X 3/8" X 23'-6" A36 --- A-3A, F-2 233.5 8406 GALVANIZED (FINAL CUT LENGTH TO BE DETERMINED IN FIELD)

6 6 AL-2 L 4" X 4" X 3/8" X 20'-0" A529-50 --- A-4, A-4A, F-1 198.7 1192 GALVANIZED (FINAL CUT LENGTH TO BE DETERMINED IN FIELD)

18 18 D-3 L 3" X 3" X 3/8" X 17'-0" A36 --- A-4B, F-2 124.1 2234 GALVANIZED (FINAL CUT LENGTH TO BE DETERMINED IN FIELD)

21 23 --- SPACER/SHIM FOR 5/8" DIA BOLT (3/8" THICK) --- A-5, A-7 --- --- GALVANIZED

75 79 --- BOLT 5/8" X 2" A325 --- A-5, A-7 --- --- (1) HHN & LKW-EA GALVANIZED

84 89 --- BOLT 5/8" X 1 3/4" A325 --- A-5, A-6, A-7 --- --- (1) HHN & LKW-EA GALVANIZED

18 18 D-4 L 2 1/2" X 2 1/2" X 3/8" X 15'-0" A36 --- A-5, F-2 89.8 1616 GALVANIZED (FINAL CUT LENGTH TO BE DETERMINED IN FIELD)

9 10 --- BOLT 5/8" X 2 1/4" A325 W/HHN & LW --- A-6 --- --- (1) HHN & LKW-EA GALVANIZED

18 19 MS02-625-4625-700 RU-BOLT 5/8" X 4 5/8" I.W. X 7" I.L. A36 OR EQUIV --- A-6, RBC-1 1.6 30 (2) HHN & LKW-EA GALVANIZED

9 9 MH-18-300CP1 PL 3/8" X 3" X 2'-0 1/4" A36 --- A-6,MH-CP 7.88 71 GALVANIZED

18 18 MH-15E L 2 1/2" X 2 1/2" X 1/4" X 7'-6" A36 --- A-6, MH-1 31.38 565 GALVANIZED

9 9 HBR425-450W PL 1/2" X 4 3/4" X 7" A36 WELDMENT BRACKET --- A-6, BR-1 9.96 90 GALVANIZED

24 24 D-5 L 2 1/2" X 2 1/2" X 3/8" X 11'-6" A36 --- A-7, F-2 68.8 1651 GALVANIZED

24 24 FP-1 PL 1/2" X 1'-0 1/2" X 4'-6" A572-50 --- A-8, F-2 73.9 1774 GALVANIZED

4 4 --- LANCO /HENRY 287 WHITE ACRYLIC ELASTOMERIC COATING AND SEALER (OR EQUIV) (GALLONS) --- A-1 --- --- PROVIDED BY CONTRACTOR

NOTE: ALL F SHEETS ARE NOT INCLUDED IN THIS DRAWING PACKET.

CONTACT TES FOR THE F SHEETS.

NOTE: ALL MATERIALS, WHICH WEREN'T LISTED IN THE BOM, ARE ASSUMED TO BE PROVIDED BY THE CONTRACTOR.

TOTAL WEIGHT (lb) = 22,346 PAGE 1 OF 1

PIECE
WEIGHT

BILL OF MATERIALS
WEIGHT 

(lb)
QUANTITY 
REQUIRED

QUANTITY 
PROVIDED

PART NUMBER NOTESDESCRIPTION LENGTH SHEET LIST




























